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GENERAL KNOWLEDGE
Which devive can be used to measure the Q1 oot = g9 A & o e oo
density of a liquid? & Fwen B on wem #7
(A) Ancmometer (B} Bevameter (AL TR (B} #ardtes
v,{'f]- Eudiometer (D) Pyenometer @ giagmier (D fueeivies
The Central University Babasaheb 2 #dm fefrome smrama e
Bhimrae Ambedkar University, Vidva siry favafigoem, fen P fe
Vihar, is located in which city? s A feenr &7
{A) Agra [A) 2T
(B} Konpur (B} =TT
(T} Varanasi {C) TR
WD) Lucknow WD) s
Where is the headguarters of the Uttar Q3 Eww wdw qfve o e w8 R
Pradesh Police located? He
{A) Bareilly Ay we
wf) Prayagraj $B1 T
(C) Moida () A=
(D) Meerut jobriya.com pr

In which yvear did Uttarakhand come into
existence?
W) 2000
(B 199
{C) 2016
(Dv) ZOR1

Barsuna Holi is played with
{A) tomatoes

(B) milk

(L) stones

‘y}:. sticks

The Kampli Fair heid in Uttar Pradesh is

gssociated with which community?
#lA) Jam

(B} Sikh

(C) Christain

(1) Buddhists
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1 2000

(B) 199
(C) 2016
(O 2011

Q5 -awEr e a T W A A

(A) ewrze

(B} 35

(T} e
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(D) it

SET-17

ofo
¥



LI¥Sad

o7

08

Q9

e —

JOBRIYA.COM

_ is an exponent of Kathak
dunee in India.

(A} Sonal Mansingh

{B} Muollika Sarabhai

w) Pandit Birju Maharaj

(D) Dday Shankar

Which of the following 15 NOT one of the
stugres of the selection procedure of LP
Police Depariment?
(A) Plysical Test
(B} Educatinonal Qualificanion
{C) Apge Eligibility

wh) Language Test

According 1o o legend, which God
sagrificed  tem  horses  during
Dashashwamedh vajna performed at the
[rshashwamedh Ghat?

{A) Lord Yishnu

W) Lord Brahma

{C) Lord Shiva

(D% Goddess Kali

Q10 Which of the following is the highest

gallantry award in India?

o7

8

LECI R e i i P s
WEER ¥ |
(A} HiErE ArhE
B AeEE HEEE

vﬂ:]qﬂmﬁi‘qﬁﬁﬁd

(D) T59 wEw

Fretferfle # 9 &9 W 0 gir P
= T Bl @ et # v o Y
(A) T afism

(B) AfEw e

(C) S wrEen

W) e

i ) @ e, e do
gymade BE 9w fifd W ard
U 0% & e sw w8
&7 off?

{A) ey fem

W) T JET

(C) wrar fim

(D St Fre

Qe #RE A sl @1 walw qeen

reefrfion & @ wr &7

Al Ashoka Chakra {A) AFNE T
(B} Param Vir Chakra jobriya.com V1B TR OE
{C} Kirti Chakra (C) el =
(D) ¥ir Chakra (D} 9 =
Q11 “My Passage from India™ is a book wrillen Q11 g O¥w Wiy gia BT Ty
by . ng i feom &
(A} Mulk Raj Anand (A) T8 W s
(B} Edward Morgan Forster (B) TEEE AR wredy
(C) Vidiadhar Surajprasad Naipaul (C) faem IEawHE Tl
) Ismnil Mechant WD) 5TNET HHe
Q12 World Environment Day is held on which Qiz2 faw guiry faow e fem gamm o
day? i
(A) 2nd April  (B) 8th May (A} 22 oim {B) & 73
v{{f] Sth June () 11th June A0 6 T (D) 11 9@
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13  Whao invented the jet engine?
(A) Roger Bacon
WiB) Sir Frank Whittle
() James 'Walt
(M Lewis Edson Watermidan

Which of the following sogial media
networks is NOT o publicly listed
company’?
(A) Twitter
(B} Facebook
() Weibo

w1 [ Quora

14

Q15 Which Indizn state has ils maximum arca
under forest cover?
(A} Kerala
{B} Maharashtra
{C) Uttar Pradesh
viD) Madhya Pradesh

is the official currency of Finland.
(&) Daollar (B) Pound
(C) Rial WD) Euro

Q17 Which line demarcates the boundary
between [ndia and Pakistan?
{A) McMahon Line
vt Redcliffe Line
() Madison Line
{D} Durnnd Line

Qi

jobriya.com

Pyongvung is the capital of which country™
(A} Maldives (B Mongolia
(C) Maleysia D) North Korea

Q18

Which of the following is NOT a state of
the United States of America?

{A) Mew York  (B) Minnesota

{C} Louisiana D) Atlanta

Q19

The people of Lakshadweep speak which
other language besides Malayalam?

(A} Tamil wii) Mahl

{C) Bengali (D) Hindi
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oie gwe w1 anfasrre TR R
{A) R
WAB) BT B fEmd
(C) T T
(D) ¥ TEE vl

Frefarfins & 9 &= w1 onnfes dfEm
semat U WA w0 g S
- 7
(A) Twiner (2fes)
(B) Facebook (drage)
(C) Weib (F134T)

O Quora (FHT)

frm vl e F wETRE gE A 99
fenr £7

(A) T

{B) WERTE

(C) T waw

o (D) 37 03

16

Q17

(1B

(s 2t anefa g 2
(A} 2lae {B) e

(C) e AR T

#ir A Y e o oifEEE & dm
& o w8

(A} i

Jﬁ}hﬁﬂqﬂm

(C) #fEw= ag

(D) Z3v2 ¥

iy g 39 3wl 87
(A) A (By s
(C) el W0 2T i

010 FrefEim 89 S g T s

020

a1 o v TE &2

(A) i@ (B) FreT

(C) TEfaarn WD) e

FEE W ER weEEs & Hena GEe

e o e A &7

(A} T V(R HEd i

(C) T (D =i o
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021 Namethe younger sonof Shivajiwhowas Q21 fIrars & ot 42 & FoTd i e

alsa the third Chhatrapati, wEmh o
WA AT Rajaram (B3 Sambhuagi ) T (B}
(C) Shahu (D) Bajirao () e ([} AT

022 isan ancient folk dance 22 shifsm A wm OF wrde
ariginating from Cxdisha. o T E
i(A) PuliKali {B) Raut Nacha (A) golt el (B} wr=a A
(C) Dollu Kunitha g Ghumura (C) =i, Fren  wD) g

023 In the 2018 Union Budget the salary of 23 39 2018 3 Pty a0ie & 9rm & merafy
the President of India was increased 1o 1 & 9l A e
- per manth. P& o |
(A) 215 lakh (B) 15 lakh (A) T15 TG (B) 15 T
{C) 750 lakh W) 75 lakh (C) 750 oy (s @

Q24 India ranks ot 3rd position, behind Q24 wH 0= R & wfte TwE A
B and Indonesio, in its anmuaal afty gEFfam & arg @AY
coconul production. e e R
{A) Madagascar (B) Myanmar (A} FEPTRET (B) SR
C) Malaysia Philippires () FerfEr ) feiidi
L v ¥ jobriya.com i

25 Thehandwritien Constitution was signed Q23 24 S, 1950 P TN W E 284
on 24th January, 1950, by 284 members T A o ik 97 SRR
of the Constituent Assembly, which famy, fred wfgemy wiaa o |
included WOTH, (A} a0 (B} 20
(A} 30 (B 20 T s (D) 25
) 15 (D) 25

026 The Kakori train robbery was conceived Q26 @i} E FEwE A S W
by Ram Prasad Bismiland were fafrer sfte o @t
{A) Khudiram Bose (A} TWERT o
(By Shivaram Rajguru (B) Rmwm s

01 Ashfagullah Khan W€ BT
(D} Jatindra Nath Das (D) WErFEA™ T

(27 Bagruisone of the famous centres ofhand Q27 97T Hgm ) ouid & witg
block peinting in Faf A 4w B
(A} Jammu and Kashmir (A} e Al T

pAB) Rajasthan CiEELIE
{C) Assam (C) &%
(I Kerala (I F==
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28 The cash reserve ratio as on Movernber

2018 set by RBI is percent.
(A) 5 (B) 6
o) 4 Dy 7

29 Hawa Mahal was built in 1799 A D, by
Maharaja
(A} Prithviraj Chauhan
{B) Rai Bular Bhatt
W) Sawai Pratap Singh
{D) Rani Padmini

30 Antonio Guterres. the incumbent LN
Secretary=-Creneral was the Prime Minister

of which country?
(A) Spain WIB) Portugal
(C) Brazil (D} Mexico

Q31 The first international cricket match
ployved at Lucknow's Ekana cricket
stadivm after its inauguration was a T20
game played between India and

A} Westindies (B} Sri Lanka
(C) Australis (D) England

Q32 The 2022 Asian Games will be hosted by

[A) Australia H’(—B} China
{C} Singapore {D) Malaysia

033 Name India®s Chief of the Army 3aff
{(COAS), who took office on 313t
December 2016,

WA General Bipin Rawat
(B) General Shankar Roychowdhury
(C) General Bikram Singh
(12} General Vijay Kumar Singh

Q34 Where was the 33rd ASEAN summit held

in Movermber 20187

(A} Indonesia (B} Thailand

¢€) Singapore (D) Malaysia
SERIES-A 7
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Q28w ol # g i Ada 2me
4 Ay M aqum__ wieed g
(A} 5 (B} 8

W) 2 7

019 FAOWMEA 1T § A MENRA g
OIS TR 2T |
{A) gedra e
(B} ¥ g W
P
(D) ol af=REn

Q30 Hgw g Al ek v R
o W HEE HE e

(A} FF WAB) T
(Cy mfrs (D) #fdea

Q31 BEWET & A4S FEAE § g e

Fefamm % e wan vsar st M
g o it o e e T
v dt2o A e
WA I g8 (B) sieE

(C) #igiform (D) g

032 T wmzz & uimd da o dagE
g o gy
(A) siEfam AB) AF
(C) Ry (D) wefim

Q33 wren & A Al wre (i) @
i acill, fER 3 a0 @
TEHT HETAT 2T

o) weE [[E e

(B) TRA WET R

() weea fwn Fe

(D) aFee o @En e

Q14 waat 2018 ¥ 33 1 anferrTs e weir

wEl AT e e
{A) SERTH (B) HTEevs
JC) R ([ e
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Which organ in the human body produces Q3§ 5 SR 1 T H A gl
insulin? e 7
{A) Liver v (B) Pancreas (A) TFH vl s
(C) Spleen (D} Gall bladder iC) faeet D) Fremm
Which of the following isa non-metal that Q36 Frerfafem & 91 15 w1 e ¢ g &
rempins in liquid state at roem Wl el T OR Ga MO A TE
temperature? 27
(Al Meroury wh) Bromine (A} T Hﬁ}'l- A
(C} Chlorine (D} Helium (C) Frie (D) ffirem
Which of the following elements has the Q37  Freieifer # # R o &1 9] EE]
smallest atomie rad jus? a4 v B v
(A) Bromine  WB) Chlorine (A) Bl viB) F=rie
(C) Sodium (D) Caleium (Cy =T (D) Hfmm
CH,COOCH,CH, is the formula of Q38 CHCOOCH.CH, e g
: (A) FIEFTEE 3
{A) Butanoic acid () fimrga geAE
(B} Methy! ethancase wiC) T g
T} Ethyl ethanoate (D} WS
([ Propanoc acid
http:/lwww.jobriya.com
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NUMERICAL ABILITY

SERIES-A

Ajs half as efficienins Bwho isthriceas Q39 A B @ amy 9w & & C 91 fgn
efficient a5 O In how many days can all 3 A #| 9 & fome o wm A
of them complete # task if B can complete Fati e e, AfE B ahe wE
the task alone in 6 days? M 6 Rl A qE @ w87
(A} 3.13 wvhy 127 (A} 3.13 Wi 327
Iy 333 i 336 (Cy 3,33 (D) 3.36
X travelled o distance of 75 km in Showrs. Qa0 X & 8 w2 5§ 75 km @ g T W
He travelled partly by foot @ 5 km'h and wEl wifHn g A Oaa 5 km/h @ R
parthy on bicyele @ 12 km'h. Find the 4 ate wifvs w9 A wgfea Ov
distance that ¥ covered on Toot, 12 kenth @1 7fl & = @ X g 9EE
(A) 12.5km (R} 13.75km A g gd s E
(©) 1425km @ 15km (A) 12.5 km (B} 13.75km
[y 14.25 km W 15 km
A sphere of radius 10 em is melted and Q41 10cm Brem aran o ner e s
made into a cone of height 10 em. Find & afte 10 cm &1 AN TiE ST A
the dinmeter of the cone, & !1#-!3 E e Gl
{Aad 10em {B) 20cm (AY 10em (B) 20em
i) d0em (B} 80em fbe) 40em (D) BDcm
A set consists of § consecutive infegers 042 T A A3 HIH B T SR 5
starting from 3, What is the percentage o #F f | AfE W= A A wed 9w
decrease in the average of the set when yoifes # faam o o aE He & AW
the greatest integer is removed from the i Froey uftrea @ oot el &7
set’ (A) 8.5% VB 0%
{A) 8.5% W) 10% () 1% (D) 12.5%
() 1% (D) 12.5%
Which one of the following isthe minimum Q43 Fmferfian # 5 @ an =y 2 qoniet
sum of 2 integers whose product is 647 ) T B e e e #Y
(A 12 (B) 8 (A) 12 iB) 8
(Cy 20 b 16 (C) 20 It
¥ jobriya.com e
Find the least number by which 1,200 must Q44 48 18 & oY) wem oo o R
e multiplied to make it a perfect square. gFT 1,200 1 g ged @t e @ feng
(A} 2 wi) 1 o fa anen anfee |
(C) 4 (D) 8 (A} 2 wh) 3
iCyr 4 Dy 5
Find the value of: Qs ,.Ir['i+.'lr[l_ 4 .,‘."I:TI'_}+=.E}]}EI'TT WA T
JO 4127+ JiT3 e o). i
&ﬁ] | (By 2 (A) 1 ig) 2
) 3 (D) 4 ) 3 () 4
4 e SET-17
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x4
Q6 IFT=% pnd Tx + 6y = 29, find the value

af v
w25 By 24
{C) 23 (D) 22

Q47 The HCF and LCM of 2 numbers are 2
and 60 respectively. IFone of the numbers
is 14 more than the other, find the smalker

nutmiber,
(A) 4 (B) 3
AC) 6 (o) 7

(B 39 candies are 1o be distnbuted 1o A anid
B in the ratio of 4:9, how many more

X 4
46 Al % ;aﬂ{ Tx + iy =29, & y T HF

SR & |
win) 25 (B} 24
323 (D) 4.2

Q47 = wensll FOAETM HATTDC e afe
ag_ﬂﬂmﬁmmzaﬁamﬁ‘luﬂ
@ Tienat ¥ § T g W geen # 9
afirp &, o) el eEn '
(A) 4 (B} 5
w0 (D} 7

48 40 & U § A BF dm 39
i fafa & and & B AW

candies does B get than A7 farert s &8 fie £7
{A) 12 of (B 15 (A 12 Wil s
(Cy 27 (Dy 33 (Cy 27 (I 33

049 An article was sold for 2,288 ata Q44 L0t 3t 308 o) erme Fafeem
discount of 20% after 2 guccessive 4 AT 0% ) WE U U avg 12,288 H
mark-ups of 10%% and 30%. Find the cost & ord ) T A HPTE R |
price of the article. (A U100 (By 1,750
(A) 21,500 By ILT0 . . (T} T1.900 (D) 72,000
(C) TLIO0 (D) 22,000 jobriya.com

€50 Aclath piece was purchased for TU0. AL Q50 s U g 600 # TRrE Tl |
what price should it be sold to get a peofit Riamd 7ed & 1 A 24089 & o9
of 12.5% after a tailoring charges of T40 V2.5 @ o ur @ fean g9 e 2
was paid for? oy dar A Segr
(A) TH40 {B) 630 {A) Thd0 (BY THE0
(C) T700 o (D) 7720 (C) 2700 ) AT

51 An article was bought for T2.300. He Q31 TF o] 72,500 # @I g | g
allows a discount of 12% on its marked gl Wil T W 12% S uE B
price and still gains 10%. Find the marked gy o & affy A 10% Fm e
price of the articles. o 1 e o Al e S 3

W) T3,125 {B) 3,500 W) 23,125 (B) ¥3.500

(C) 23,200 {D) ¥3.000 {C) 23,200 (DY 23,000

052 In how many years will 71500 double
itself under simple interest system of 4%

pa?
(&) 20 years (B 24 years
AT 25 years (D) 27 years

SERIES-A I

Q52 4% ufy af ) R = P T
wEA fre = 4 21,500 g7 8 ST
{A) 20t (B) 2404
) 35T (D) 27
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FLO00 Becomes T1,044.5 m 2 vears. Al
what rote 15 the |‘|:ir||’.';[!|:|| armatnt
compounded annualiy!

{A) 6% H.llﬂ- %

() 8% (D) W

A lossof $1,152 has o be divided amang

A_Band C inthe ratio 7:8:9, then what is

the share of AY
WAA) T336

(Cy T30

(B} 7342
(0} F384

A, B and © subseribe to a business of
FAO.000. B subscribes Do 000 monz thim
Coand A subscribes T2.000 maore than B
What will be A's share of profit out of a
total profit of ¥ 00,0007

(A} F2,000 (B} 2,500

(Cy 3250 Wy T 00D

A grocer has a sale of 2,000, T2,500,
FA.250 and T4.250 in 4 months. How
imtiech should his sale i the 31h month be
f H-ﬂ an ovierall averige of 23 500

(A T2 5(H) {3y 23,500

(Ch 74,504 WJ £5,500

053

(254

055

(156

jobriya.com

B & C ean coimplite a task in 40 days while
A, B & C can complete the task in 20 days
In how many days can A complete the task
kone?
(Al 20
(C) 10

(B) 25
(P 40

SERIES-A

i

a7

TLO00, 299 A T1,1449 81 T €1
e W A e e d umeghl e
O T #d
(A} 6%
i 8%

B} T
(D) P

A, B dR CF A 2,152 T g

7:8:4 3 arrom # Frenfas @ ey, o

A o Tl @7
WAt) T336

{C) 2200

(B) 7342
(D) TIK4

ALB e CF 250,000 & HRET AT
FEdy B C 1 g § 26,000 s
firer e AR B A TR E 72,000 %R
few | #f? e e T10,000 = & @A
A T B R e

(A0 T2.000 (H1 T2.500

{C) T3.250 (o T4.000

wh ward] df o gee 9§ e 22,000,
22,500, 73,250, T4.250 1 fast sxht )
73 500 @ afrem g wver o & T
diad miE A we faed i e @

Arfa?
(A} £2.500 (B 3,500
(C) T,500  LP) 75,500

B afe ¢y @ a0 fEA7 # g =% aw
& ufs A, B R C U5 Fm 20 B4 A
R U £ A W T e
&= 0 gur o wEwn &7

(A) 20 (B) 25

(C) M q}l- A1)
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=ﬂﬂ

LTVEad

JOBRIYA.COM
MENTAL ABILITY

(258 Selectthe option that i= related to the third
word as the second word is related w the

first word.

MUSIC : SEWLE  CANOGE : ?
(A} IFRSG (B) IERRG
vl IFRRG (D} IERSG

339 Find the missing numbers to complete the

given series.

O 16,24, 33,754, 7

[A) d20635 (B} 4365
#4366 () 42:06

60 Find the missing numbers (X and Y in the
geries and find the value of /X
10, 10, 20, X, 240, 1200, ¥
(A 60 B 120
(C) 220 ([ 480

Find the pair of the numbers that would
fit inio the patizrn.

711,812,913, 1014, 77

wh) 1115 (B 1014

(Ch 114 (0 115

Which of the following options senes is
built on the same [ogic as ;

C.ELL D

(A LOSUX (B LOSVYY
C) LORVY @ LOR UX

Q38 @ B o =5 w6l W et v 9§
T g B HEEA § FAE g 9 ogen
T I T W OEANE 2
MUSIC : SZWLE = CANOQE : 7
(A) IFRSG iB) IERRG
MC) IFRRG (D) IERSC

Q59 Freffes s ® qn s 6 e
o HEH B I
9, 16, 24,33, 7,54, 7
(4] 4265 (B] 4363
SO 4366 (D) 42:66

Q60 sEE | g asay (X el y) am e

;T YIX HT WA W @
PO T, 20, X, 240, 1200, ¥
{A) 60 o) 120
(C) 240 (D 480

([l (0 B T T (e e o
UG BT
TILB 12913, 10 14,77
o013 (B 1014
(Cynd (D) 1015

Q62 Ty wg fawei @ #9 0 gwen ™
e e gaer & oF @ amE Rv
CFLLD
(A LOSUX B LOSVY
€ LORYY ¥LORUX

63 Fill the missing letter in the given series. Q63 T J3‘-:F~‘3.|T-!T T e 3T BT TEEE |
A.A B E? s A A B F?
(A) W why X jebriva.com (A) W IR
Cr ¥ {m 2 cry (D Z
D64  Which pair in the options will complete Q64 Fraeul A ¥ Fm gm Freafafine guar
the following series? & T A
AZYB, WD, AZYB, WD,
WA CX:VE {B) CX;EV W) CX; VE (B) CX:EV
{C) CY.EX (D) EV,CX (C} €V, EX (D) EV; CX
SERIES-A iz SET-17
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If Ax B means A 515 be south of BL A+B
mieans A s 1o the north of B: A %% B means
Ais o the east of B: A - B means A s o
the west of B then in P3O+ R -5, 515
inwhich direction with respect to OFf
(A} South-west

-;{B} South-cast

66

(C) March-west
(3} Morh-cast

Oine maorning., X starts walking towands
the sumn, then takes o right, then takes 2
consecutive lefts. Towards which direction
i% the walking now?

p1A) North {B) East
(C) ‘West {I}) South
67 A child went 90 feet m the wiest o look

for his father, then he tumed right and went
20 feet. After this, he turned right and
walked 30 fieet to reach his uncle’s howse,
His father was NOT there. From there he
went 100 feet 1o his south and met his
father. How fur did he meet his father from
the starting point?
{A) 140 Feet

(C} 120 fest

(B) 110 feet
W 100 feet

X walkid from pointAto B. He turms right
ard walks 17 feet. He again tums right
and walks a distance which is squal to1hat
of from A to B. He again turns right and
walks 9 feet. How far is bc from the

starting poink?
(A) T feet (B} 7.5 feet
J,C} ¥ fest (D) 9 feet

Qb5

LMT

aft AxBw Al £ AL B Tl A &
A+BH aef & A,B T ww A 8
A%EB F 3 # A REgE AL A-B
o @l B A, BT ufdeE 8 w1 PO
+R-SH QO Hag ¥ & fmw e A &7
(A) SlET-giFEm

(e

(¢ Feern—ufes

(D) Ty

G HEE. X 7 O R e s
fven, fawe o oew @1, 5T JTew 2
aw ¢ q@ | s a8 faa e A oe

TE &7
) (B) gd
(C) ufE=m (D) =

v e anrt B JemR B &6
fom wfimm & oo i N, fR @8 T
ey Y & 20 R TR g WG 98
& Har A7 30 HE W @ @ a8 0
o & U ugan | I fen gel o O
awf ¥ a8 Sl # 0 e TN AW
A e 9 fen ) geamd fig @
arel fiven & foseedl g Far?

(A) 140 5 (B} 110 e

(C) 120 HIE & 100 e

X, fig A% Bas o) v = o
T Al WE 17 WiE gar) aw w9
gl ol oF g o e, ot s A
& B e & | 7w fw @ o ger e
W1 Wie AT ¥4 A% heann g 9

R 52 #7
(A) T TIE (B} 7.5 I
g 8 wie (D) 8 W=

JOBRIYA.COM

SERIES-A
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In the guestion, one stalement is given,
fioliwed by two conclusions, 1 and 1. You
hawe to consider the statement fo be o
even if it seems 10 be ol variance from
commonly known facts. You have 1o
decide which of the given conclusions, if
any, folkows from the given statements

Sratement 1; Domestic demand has been
increasing faster than the production af
wheat.

Conelusion I: Domestic demand must be
reduced.
Conclusion [1; We should expost wheat.
{A) Only conclusion | follows

o8] Only conclusion Il fallaws
(C} Both | and 1 follow
(D) Neither 1 nor 1 follows

69

gE # v g A o g d e,
[ afre 11 feg o €| MmO W EE 6
e HET ET, e 8 UE A i 0w
oI TRt W e 9Ee B a7 Sl
wE oy e & R oy Pt @ 9
Fier Pred, ot e 2, RE g wem
ﬂﬂmjmnm!u

Frere 4 A o e e i T
e, W ST A w8

et 1; e AT Fm o Sl R
Prspd 11 & a1 @ Fral| Fwe afig )
(A) Fae Pl | g o @

G e P | s g
(0 Laf 11 g arEe wEe £

(D) 7 1At a [ e e R

In the question, one statement is given, Q10 wE A O e W aad g @, |
followesd by two arguments | and 2. You afm 2 Bm oow & anudl 3H FEA oW
have 1o consider the statement to be true 0 AT BT, W @ OE WM T w9
even if it seems o be at variance Trom S e # A Wl BV BT 3R
commenly known facts, You have 1o o wen £ e oo oosl A W
decide which of *4e given arguments, if T o, aft wig & Ry @eET &
any, supports the given statements, SATTR A B

Seatement | Should mid-day meals in FUE 1 TR ST ﬁﬁ’i i far i
government schools be stopped? o W Hiam dE W W e

jobriya.com-s»

Argumenis 1: No, it provides at kst one
meal tothe underprivileged childern,
Arguments 2; Yes, it provides a wrong
incentive to attend school.

g4 Omly orguments | is strong

(B) Onlby arguments 2 is strong
{C) Both urguments 1 and 2 are strong
{I¥) Meither arguments 1 nor 2 35 sirong

SERILS-A

4

o |, g Al gl @ w8
TEh HH T WA TR B T

A 2, T8 ERE W aE & oW Tem
oeTER W e &

) FEE EE | e 8

(B) Had T 2 g 8

(C) w& | 3w 2 gt oo §

(D) A A A | ol A @ an 2 Ao #

SET-17
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Q73

oA} Dictionary

74

Q75

Q76
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[ the question fwe slatements are grven,
followed by three conclusions. L 11 and
1. You have to consider the statements
1 be true cven if it seems o be af variance
from commonly knewn facis. You have
10 decide which of the given conclusions.
if any, supports the given sramements.

Stutement |2 All the students in a class

are bright.
Statemient 2 X is WOT bright.

Conclusion 1: Some stedenis are NOT
bright

Conclusion ;' X must work hand
Conclusion 111; X is NOT a student of that
chass.

{A) Only conclusion | follows

{8) Only conclusion 1 follows

#£1 Only conclusion N follows

(DY Meither of the 2 follow

Which of the following words does NOT

have its letters in an alphabetical order?
) Blank (B} Alloy

(C) Empty (D) Begin

Which of the following words can be
formed from the letter; ydeinratol

{B) Directory

{C) Direction (D Dectring
Sebect the option that is relsted to the third
word as the second sword is related 16 the
first word.

Rooster : Hen - Stallion - 7

(A) Horse vl Mare

(3 Fonl (D} Doe

Each one of the fallowing aptions consists
of pairs of words, Choose the pair that is
similar of the pair given in the question.
Writer : Book

{AY Painter - Brush
(B} Sculpdor | Stone

T Potter © Pot
([0} Dancer : Shoes

Select the option that is related (o the thind
termn as the second tenm is related to the
first term,

AB:NO KL T
(A} WY W) Y
(C) WX oy XY

+ BERIES-A

I

072

Qn

74

Q735

jobriya.com

Q76

o 1A) Dictionary

Freferites w=si & | 9 95 & MER
AviAre FERTER T Y

) Blank (B Alloy
(C) Empty (D) Begin

Preafufem gl 0 # @758 W
ydeinratol 2s%1 4 T A A B7
B} Directory

() Direction i Docrrine

T femee &1 90 & W ey me 9
A W w8 Fag UER ¥ use
we g WA 1 e @)

st et o T ?

(A) =i (B) urlt

(Cy Ere =1 e (D) i

faerfuim fwen F o A 7] &
Tre £z 4 [ g o # A e

Lyt

AB-NO KL ?
(A WY
L) WX

SET-17
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Q7T Which of the following answer figure
patterns can complete the series given in

7 FreeiE @ 9 9 8 g aehy o
tresl wet oty # & T sfmen ® g

the question figure? o e 27
A i t‘ﬁ . s :
A | A ;
&% | A ;0 @® | A |
™ |g ;‘ e | N P i P
L} ‘¥ & @
(c) & £ () Sy -

QT8 Which of the following answer figurs Q78 Pt 4 @ @i @ oo agf @
patterns can compbete the series given in Sz we st W T gEe w g
the question figure? Gl s T
o] [& 8] ' ] [y |
3 Fut O = A 1 0 o= —‘
z pllo - | o [ |s] : |
= ] i) b f
O Fal O Fa!
A} (B)
¢ o = {A) 5 (8) a
2 ' ZI\ b 0
| & [ o % T
W | | (D) ._&" wo | Yo &’3'

0% What is the minimum number of lines
required to meke the given image?

Qe @t 5 ofF wAE @ fom wEem Rl
W o o 87

@ JOBRIYA.COM @

¥ia) 16
(C) 15

SERIES-A

(B) 13
(D) 17

¥iA) 16
{(C) 15

(B} 13
(D) 17

SET-17
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O8O0 [fa mieror is placed on the line MN, then QB0 17 T wefor ot ¥ MIN o8 T i &,

which of the answer figures is the right i i # ann gt 0 iy o
image of the given figure? et oy &7
& M

N

(A) Ilr_-f"--‘].?\. (B} (A} (/"P\ (B}

() /‘D?\.pm Iﬂl ©) :—E &

81 A pieceof paper is folded and punched a5 081 we AR 4 A frmng aepEe toy &
shown below in the guestion figures. From Y

E the given answer figures, indicate how it T R anglaa 9, gifm o [ g9
= will appear when opened. e w99 a8 e famg Em
|
INInE Tid 1
| L L by
i PR o BT et i |
N A N b
A | BpN | | A | Pad | (B | 5
=) &B Q{E}ﬁ ﬂbl:l '/E .:_':l';:]‘i'?’l
Pqp D x
A N7 Cand (s
C o .
O O WSy O (S sy
Jobriya.com
(82 Armange the following words as per their Q82 Freiferian nel &1 i gEgH B
arder inan English dictionary and chooss wara s aw e W g Eli
the ane that comes first i TEe AT
Voyages, Voucher, Volunteer, Volunetes Vovapes, Voucher, Volunteer, Yoltmeter
{A) Voynges (B} Voucher {A) Vovages (B} Voucher
(T} Voluntesr JJ’.!& Yoluneter {Ch Volunteer JI:'J Voltmeter

SERIES-A 17 SET-17
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A serigs is given, with one word EssiE,
Choose the correct option from the given
oS that will complete the series.
Ethnic, leebox, Owen, Entice, ?

(A} Chronic (B} Obscene

i) Forgetful

A series is given, with one term inissing.
Choose the correct option from the given
ones thot will complele the seres.

EDC, GHI, MLK, DOPOQ, UTS, 7

(A) ¥YXW {(B) Xyz

{Cy ZYX VD) WXY

A series is given, with one term missing,
Chaonse the cosrect option from the gven
omnes that will complete the series,
WAWTW WM, WWWWAMW,
WWWRWW, WWMWWW,
WMWWRW, 2

(A) Mwwwwn vl Mwwewww
() MWWWMW (D) WWWWWW

A series is given, with one number missmg.
Choose the correct option from the given
ones that will complete the series,

-10.8, -89, -7, 7 32

(A) 4.9 (B) -5.3

() 4.7 viD) 5.1

I the 4th day of a menth is Friday, which
of the following would be the 3rd day afier
the 25th day of that month?

(A) Wednesday M) Tuesday

(C) Sunday (O} Monday

B3

184

QES

(86

87

jobriya.com

A series is given, with one term missing,
Choose the correct altesnative from the
given ones that will complete the series,
G2Z7, X3HT, 15V7, TT)9, 7

(A) LIORI2 (B} K151

W) KRz (D) LIORI

SERIES-A

0as

WO Century

A T A oF ww aa d fe T
feret] & @ afte feren wfe oft S
ol g R 8

Ethnic, lcebox, Oxen, Entice, ®

(A} Cheoaig (8] Cbscane

(03 Forgetful

6 At o 0T g &) Ry
Awent 4 @ aftn fwen g @ sniy
6 4= Ewar gy

EDC, GHI, MLE, 0P, UTS, 7

(A} TXW (B xyz

C) 2¥X W) wxy

u g A ow e g @) far
el & 91 it freeg gy o s
LR

W IW WM, W wWW MW

WO W W W, WWMWW W,
WMWWWW ?

(A) MWWWWM M) MWW W
(€1 MWWWMW (D) WWWwww

Al g S v e qw # ooy
Rt 3 & afem fca g o st
w1 o grem @

-10.8,-89, .7, 7, 32

(A 49 (B) -5.3

(C) 4.7 V) 5.1

e et wfs an e P gman
o frefafem 7 wie @ R o ol
@ gl 9 & wm @ S s
Ehm?

(A) Fam
(C) wiam

vl e
(D) Frmre

8 A A g 0 e @) Ry
Feretl # & afim Rerey g a o

et |

G2ZT, X3HT, V7. T79, 7
(A) LIORIZ (B) K11S11
T} K1IRIZ (D} LIORI]

SET-17
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In & code language, 972 means “steed 15
strong”. 298 means 'iron is stromge” and 387
means “iron and steel”. Find the code for
‘amd’.
(A 7
{C) 2

(B) B

"jl'.'l'] 3

I a cemain code, WANT 5 written as
4713 and COPE is written as 2863, How
is MOTE written in that code?
(A) 2384 (B) Bl1I8
Wi 853 (D) G8%)

ITin & certain code lahguage, *+ represents
fu ot represents M " x 7 represendst <7
and *+ " represents *=", then find the valee
of the fllowing expression,
B 4=x2-943
{A) 20

W) 33

(B} 12
(D) 15

jobriya.com

[FCENTALR iscoded as ACLEYSE, then
oo wall HOHP be coded as?

(A BGD B} FMN

) WX (D) RFV

If A f@ Bmeans A is the sonof B, A& B
reeans A is the hushand of B and A * B
ineans A is the daughter of B, then what
does P (@ 0)* BFS mean?
(A) 5 is the mother of P
(B P isthe grandmather of 5
{Cy P is the mother of S
W1 5 s the grandmother of P

IF P %% 0 means P is the brother of O, F1
Q) means P s the mother of O and P * )
means P is the son of O, then which of the
following shows that C is F's mother’'s
brother's son?

(A CWD*E!IF(B) C*DIE%F
(CYC*D%E!F({M C%DIE*F

SERIES-A

9

CQBY

9]

Qoz

Q83

Tl e amw | 972 =1 and § steelis
strong’, 208 &1 w8 & “iron is strong’
3ite 3RT7 @t 39 & ciron and steel’, and®
+ fog e o

(A) 7 By 8

(Cy 2 "GD} 3

o) T ane A, WANT @ 4713 fermn
TR & AR COPE F1 2863 fomr @
B 3@ 32 NOTE &9 formr wmpm?
(A) 2384 (B} B11%
W) 833 (D 9E%)

afe [l B ge wen A o+, " w
W[ &R B, -7+ wRpE ae g
e R e R Al s o )
v wE f o Freiafe s
& T I E
B dx2.9+3
(A} 20

W 33

Il CENTAUR #1 ACLRYSP Ot o
wg Fam S B, o HOP @ fFn e

(B) 12
(o) 15

CTAC TR |l e
(A G W) FMN
{C) WSX (1) RFY

ot A@ BT a2 A BT g B
ANBE a3t 2 B A BT o 2 o
ABFonl & i A BE g B @
Pai Q= R4S T sl &2

(A) S, P@l o &

By PSH I &

(C) P S A &

o) s, P wrlh B

s pwomadt FrOF aE &
PLQ@ o & s o i & ol
ProF ot & B POQ® = & o
Ferferfiam f ooy st & fis C, F o &
@ wg o ga &7

(A C%D*E!'F(BY) C*D!'E%F
C) CH*O%ELF A CW%DIE*F

SET-17
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095 C said 10 D, “You are my &ister's
husband's father-in-law.” How 15 D
refated to 7
(A} T s the grandfather of C
(BY D isthe fathes-in-law of ©
) D is the father of ¢
(D Dis the sop of C

95 CH D w2, a4 955 F ofy 2
AN D,C % fEw e wain &7
(A) D C o7 =i @
(B} D, C 6 e &
e D. C =7 forerr &
(D) D.CwT 43 2

(9 In the following figure. the square Q96 Freferfimer amgfy o, Hida e ot
represents psychologists, the triangie ey g e o o s = 7
represents chemists, the circle represenis o ged AEE @ oawie B o
actors and the rectangle represents HARTFRN ANt 0 gk &) ap— =
mathers. Which set of letters represents B A HE T AR @ qui T =
maothers who are NOT actors? M ] &7

L
|
F
VAl
A b ]
(A} B (A) B
¥fB) G i G
{C) DHE (C) D+E
(D) B+C (D} BC

Q97 Which of the following Venn diagrams Qo7 Fr=fafima o A i w49 s
best represents the relationship between WEREE, sfEnt v ol & §w 3
herbivores, wolves and tigers? TR P HGE AT T &7

O O
(A) OO (B) (A) O (B}
jobriya.com

e

SERTES-A 240

hg—} (D) OC

v
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98 The given line graph shows the record of Q98 F2a an dan andey =t & e 6 f291 9

LIVShd

number of tickeis sold at the theatre
counter an the first 6 days of a show. On

frdey amdee W A e fewel i den
1 et fEamn &) e B e

hoow sy das was the number of tickets Fergret 8 iy Tt ey 9 g Rt
sold less than that sold on the previous # m =i
dayv? -
I“I i |

- e .::l s EL ] |
=R o

i_'ll-': 8 [ ik |

P = . A
T _ (M) 3

{A) 3 By |
(B) 1 2

o) 2 (0 4
{4
The given har graph shows the number of (0 Fmr o aw e BT s @ e
employees working in & departments of a firmf & g e ot oot of)
company. What is the difference between e ot gier @ | e Eafm s C
the number of employees of Department & s 4 o ¥ R s &7
E and Depanment C7

{A) 50

th 250 {C} 150

(D) 200
http:/iwww.jobriya.com

SERIES-A
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Q100 The given pie charis show the shares
owned by the four partners of a certain
gompany for the vears 2017 and 2018
The company had mseed 100 shares that
are now ownéed by the four partners, B
sold same of his shares to A and C. If A
paid 2,000 for each share, how much did
B recetve from C For the shares sold o
7

Year 2018

&

(B 2100000
(D) 3,00,000

Year 2017

éb

{A} 250,000
() 22,00,000

Q101 Which word does NOT belong with the

others?
(A) Fail (B) Sad
(C) Happy (D) Excited

Q102 Find the odd letters from the given
aliermatives,

A0 ORU

(C) IKM

(B) CEG

Q103 Choose the figure which is different from

the rest.
T o
{-’l]+++ | |2 X =
7 il He
i + + +
= b A
(C) }
-!-Hxép S e

SERIES-A

Q100 Frar T o w2017 Y 2018 @
fam i Foeh & = spiew & i
ar S @ fiemm 8
woef A 100 YR S FR 4 R
it am T AR wEEw £ B W
wE T A MR Cwodm By afy AF
e A @ e 32,000 @40 e
fiFal wr, &Y C0 & ¢ 90 @ fog B
@1 CH e e e g

TN 2017

{B) T1.00,000
{12} ¥3.00,000

2008

(A} 50,000
(07 2,000,000

Q0] ® Y W we aFg f=a] A MET 87

e (B) g
(C) g (D) It

Q102 fE vy famedi § % fowr ame g |
é*1 ORU (B) CEG
(C) TKM (D) UwWY

(DY UWY - Jobriya.com

Q103 wa gl w1 o A e @

AT &

b4
.8

*
+
A

o r : -

_|_
_|_

@ |~

i'l'.h:

(A)

i
A

o
"

Ch

+ +
¥
S R
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3104 Choose the figure which is different from QU4 TH amata &1 g7 S ar anptoat @
the rest. HAT |

‘xam X0 A X QA X 0 A
i | W] e WY ;m”"""",m}WE"'
|E W O] MV Q) WO MV Q
VOF [wvavy VW OF vay
I_,.{m|m:-:v AW X mcr|”x""m:‘“‘w”
W A Q EMO W A Q EMO

Q105 Select the related word from the given

aliermatives,
Wife : Husband :: Brade ; 7
(&) Marrrage (B} Love
() Man W1 Groom
0108 Select the related number from the give o
olbernatives
Y3:B=34:%
[A) 64 w1 B) 8]
{C) 25 (D} 36

Q107 From the given answer figures, sebect the
one in which the question Ngure is hidden/
embedded.

n
B

(C}

(LR

SERIES-A

jobriva.com

23

Q105 for o faaserr # wafEn g @ e
T |
gl - 9 - g o ?

(A Tl By i
iy sl W10} Sl
Q106 fae o w4 & e dea 47
EI:-B-34:7
(A) o4 W B} Rl
{Cy 25 EL

0107 & T S wsfaal 69, 9 oF #
T aw firl s angha figa )

|

| I‘\-.i |

{ JB:I

W B
e

SET-17
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Q108 Which answer figure will complete the

pattern in the question figure?

<

(A)

~
s

QI Which of the following answer figure
patterns can be combined to make the

queestion figure?

A

(A) [ EAEE

(B) ijEEED:FEE
o B BT
o3P F

SERIES-A

r- £
l{vﬁr_ . jobriya.com I__IEI._i 1

QI0R ®T A Fare snghy oea ansfy 4 42
TR Y

NNE
(€) g}j (D) 'i/

Q0% Freafafag 4 o @ @ o g @
e F wv g a9 & ae
ol e &7

e 0 =
(A) AEREEDEEE

o BE8
o TP
o BE | FF

M SET-17
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Q110 Which ol the following cubes in the answer

fgure CANMNOT be made on the basis of
the unfolded cube in the question figure?

Read the following information to
pazwer the given 3 questions (111 fo
D113

Following are the conditions for awarding
73 lakh compensation to a farmer for kass
due to flood,

A) The farm affected by flood should be
atleast of § acres, but NOT more than 25
acres,

B} The flaoded farm should be atleast 2
fect under waber for atleast 1 week,

) Other income of the farmer should
MOT be more than T20,000 month,

DY The farm should have standing crop
at the time of feoding.

E) The farm should be uninsured.
However, in case a farmer fulfills all ather
criterin EXCEPT-

1 C above, any subsidy received can be
excluded from other income.

1) D above, if harvested and crop was
submerged in floods then only 2.5 lakh
will be awarded

%) E above, if insured and insurance
claimed is less than T3 lakh, then only
difference will e compensated,

SERIES-A

25

QIO Ty amgh § e g ot wee gt #

de BU B O WEW oY W@ a
W B7

T
TR
O
(M) #
() : .| o L1 10

for mr o3 wel (QLLF QLY =
aw 49 & fay Prefafaa s
a3y |

fisd frem &1 W@ @ 5¢ qwE @
wuE & o A e e e #
wymad & forn Prerfofen wd &)

A) WE B FT TR £ ol d@a
9 ¥ B9 § THE, A0 25 UFE ¥
i G e

B) WU WO W W W 1 Y O
afre F0 @ w9 2 e ol § @ B
e |

C) e & s T H amE 120,000
uftemg ¥ afies =1 g iy

D) wig & THa an # w8 HEA e
=T |

E} @ 1 S 1 g ST
ZrieE, ofe o fFem FE o v
o= i AFIEE] W g S

1) € aarm, el of wem A e
awt g amr o 4 P & el
2) DIy, #ft waw @ T 5 OB
T e U g 8 o Hae 123
e B A T |

3} E 9w, ot fifta wmfte o 4
oW TS5 AN & B T Fad s @
Ty s fE we |
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Based on these criteria and information
provided below, decide the course of
action in each case, You are NOT to
assume anythings.

Farmer X has 30 acres of farm of which
I 5 nores was under 2 feet food water for
10 days. The farmer’s other income of
25,000 month includes T6,000¢- month
subsidy. The farm had unharvested crop
when it was fooded. The farm was NOT
insured.

(A1 Award 5 lakh compensation

(B Award T2.5 lakh compensation

W) Award no compensation
(D} Deata inadequate

(3112 Farmer Y has NO other income. His 10

acre farm was flooded for § dayvs under
twir and a half feet of water. The farmer
receives WO subsidy and the crop was
standing at the time of Nooding.

W) Award T3 lakh compensation
(BY Award ¥2.5 lakh compensation
(Y Award no compensation

(D Data inadequate

113 Farmer £ has T20,000/ month other

incorne. The crop was harvested but was
lving in the field and submerged during
flooding. 10 out of 15 acres were under
2.5 fieet of water for & week. The farmer
has claimed zero insurance.
{A) Award T5 lakh compensation

W8I Award T2.5 lakh compensation
(C) Award no compensalion
(D) Dara inadequeate
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